Al

A MSAE2e 0
g 20+ HSAE 22l
Helr E2X MSAE X

g Al

(o
SA - BB B (BA) - MM - BHES e HREZ
M=AlE2tel 5,376,406 6,142,747 AT66,341
J| 300,000
= 120,000
Al ,956,406
FD+=F2 HSAE 22 ,254,251 6,024,212 AT69,961
J| 300,000
< 120,000
Al ,834,251
SEXQ MSANLE XA ,087,111 1,303,894 A216,783
HEAE 2298 XA 504,000 400,000 104,000
307 21201 A 504,000 400,000 104,000
05 RIZt2IEt = 504,000 400,000 104,000
OUW+=HSHE A2l 284,000,000 284,000
OFMWAATXHME o 255 2T A2
Zdl 220,000, 000& 220,000
H2tX=AlE 22 574,611 611,904 A 37,293
101 @124 dl 159,194 153,318 5,876
04 0I12ZtHZ22 s 159,194 153,318 5,876
OMSAE A0 B
51,8003 = 8% » 26& » 103 107,744
O & F Il 200,000& = 8Y « 23] 3,200
o4l MalE2H 11,509
O30UHLEHE 107,744 ,000& * 3.06% 3,297
OEINLYEH 3,297,000& * 6.55% 216
O30z 107,744 ,0008 * 4.5% 4,849
onssdg 107,744,000& * 1.5% 1,617
OLATHM EE 107,744 ,000& * 1.42% 1,530
OZZHSANL EXNBHAALEY S0l 31,983
OPIE=! 51,8008 * 2% « 262 « 108 26,936
O FLY
6,4703 = 2H » TAI2t = 262 * 10& * 15 5,047
0%
OHEF Y| 200,000 » 2Y « 23] 800
O40h M3 2E 3,958
O=HLEE 37,030,000& * 3.06% 1,134
OFIAEE 1,134,000& * 6.55% 75
O=0d= 37,030,000& * 4.5% 1,667
CnE:EH 37,030,000& * 1.5% 556
Ot Mol 2 & 37,030,000 * 1.42% 526
201 L2l 366,800 435,620 A 68,820
01 At 22l 21,120 17,940 3,180
OMSAE EAXF 24l
7,000% = 6Y = 90 3,780




EAX: M=EAIA 22 0t
M XDLEZFO MSAAE 22
G 2282 HIAE X& (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OMSAE & 26 EE= HE(3B)
3,000,000& 3,000
OMSAAE 2 2034 oHLHE HIA
1,000,000 * 3 3,000
OMSAE(BF0IRE ST IFHSD)
MNEES 2¢ 3,180
o= AEX 21,000 = 58tA x 3IH A 315
OmeglH EY 220,000& * 30 * 30 A 1,980
OJIEF AIRE2E 885,000& 885
ORQoIAHHIAIAE =2 8,160
OBFERTIDT SLUBUIAAE
180,000& * 128 2,160
OFZO0IPE RBHAAH
160,000 * 128 1,920
OFFTHEE 2HHAAEH
160,000& * 128 1,920
OYZREIZ LAUFLAAH
100,000& * 128 1,200
OFF=2E LUBHIALEY
80,0008 = 12& 960
02 E32%H| 345,680 417,680 A 72,000
OMESANE &olxk 22
10,000,000& = 3JH 4~ 30,000
OMESANE HIR2 60,000,000& * 402 240,000
OMESAE TAIIARS
16,000,000 * 20 £ 32,000
ONMEANE NERYEHE2
2,000,000& = 504 A 10,000
OMESANE FI2HMAIAE S E
229,000,000& * 8% 18,320
OFX&HMAIAE oY @2
30,0008 = 12&€ 360
OMSAE 25 =20 E =
15,000,000& 15,000
202 o4 | 2,160 2,160 0
01 2L I 2,160 2,160 0
OMS A2 20|
20,000 x 3¥ x 36Y 2,160
203 R F & 2,000 0 2,000
03 AIZH =X 2 =X H| 2,000 0 2,000
OUH2HMEALE 22 =& 2,000,000 2,000
206 M = dl 13,233 13,132 101
01 XH2 bl 13,233 13,132 101
ONMESANE HAESE 13,233
Ost&A HA23 200,000 ~ 12& 2,400




A MSAE2e 0
M FD+F2 MSAE 22
S9l: EEXQ HSAL X (ol ml)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oXdgJl EgHd S5 (100L)
1,770& = 1,3000H 2,301
OMgIl EZFHMSS(50L) 890 * 1,26004 1,122
OMgs+HE SHSE 300& » 700& 210
Ost&Eadz st&X
40,0003 = 1594 « 128 7,200
307 gl2tol & 7,224 7,674 A 450
05 BIZHRI & 3 7,224 7,224 0
OMSAE ZAAx=H|
203 = 30,100m = 123 7,224
405 XtatE SHI 24,000 0 24,000
01 HatH ESFH S 24,000 0 24,000
OMAMsSIl 7L 3,000,000& * 8IH £ 24,000
Hsdies 249 8,500 6,930 1,570
206 M= Hl 8,500 6,930 1,570
01 =8l 8,500 6,930 1,570
OMSAE ZBIIES 8,500
O=ZHiola s 178 500,000& * 178 8,500
Zog gasS A8 MISAE e 3,087,848 3,973,068 885,220
J| 300,000
< 120,000
Al 2,667,848
EFZEZINE REEF22 ZA 600,000 0 600,000
J| 300,000
< 120,000
Al 180,000
401 AIEHI L 2 0] 600,000 0 600,000
J| 300,000
< 120,000
Al 180,000
01 A& tl 586,260 0 586,260
OHFZHAIT PESL2Y BA
564,960,000 564,960
J| 282,480
< 112,992
Al 169,488
OHZZEAIN FEEAPY BA HALH
=l 600,000,000& * 3.55% 21,300
J| 10,650
< 4,260
Al 6,390
02 Zteltl 9,960 0 9,960
OFF=ZTEIIE REEBxE2 3 A Zealbl
600,000,000& * 1.66% 9,960
J| 4,980




A MSAE2e 0
Zu: HD4E HSAE B2
S ZIY a2 A& HMISAE e (&
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 7,99
Al 2,988
03 Al 2 THHI 3,780 0 3,780
OHFFTHAINE PELLEL BA AL2H
=l 600,000,000& * 0.63% 3,780
J| 1,890
< 756
Al 1,134
EYEFSE ZGER AEMHEMS 511,872 0 511,872
AEHI &2 511,872 0 511,872
01 A& HI 499,344 0 499,344
OEE=733 XZYER AMEMEA 499,344
OXZES 471 A 480,000,000& = 14 480,000
O& A& 480,000,000 * 4.03% 19,344
02 2feldl 9,072 0 9,072
OBZF=33d XYEH AEMEAY Zeltl
480,000,000& * 1.89% 9,072
03 AIE =2 I 3,456 0 3,456
OSI=IZY ZYBAANLHLINY AL
=l 480,000,000& * 0.72% 3,456
YL 2B LI ZA 1,552,800 0 1,552,800
401 A& HIZ 2018 1,552,800 0 1,552,800
01 A& HI 1,524,450 0 1,524,450
Y22 M2 XS A 1,500,000
O&dZ® &4x1 £ FUHSA 1,500,000,000& 1,500,000
OL+ELIY HZE EXI3A 2AEAL
1,500,000,000& * 1.63% 24,450
02 Zr2ll 22,950 0 22,950
OULTYRE MW LXTA 22yl
1,500,000,000& * 1.53% 22,950
03 A& 2 THHI 5,400 0 5,400
OL+E LI B EXI3A AIER0UHI
1,500,000,000& * 0.36% 5,400
ZUHNSSE ST ZEERA EX3A 204,877 0 204,877
401 A& HIZ 201 I 204,877 204,877
01 A& HI 199,215 199,215
OZUM=ESE =2 HER EXSAM 199,215
OXZES 471 &X 190,000, 000& 190,000
O& A& 190,000,000& * 4.85% 9,215
02 224l 4,294 0 4,294
OZUN=sd =& ZEER &X Zaldl
190,000,000& * 2.26% 4,294
03 A& =2 THHI 1,368 0 1,368




2N

M= A4 2tel

M FD+F2 MSAE 22
Sl 2 A4S A MSAE N CERED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OZUN=EZSd =7% ZYE® &3 FUH
190,000,000& * 0.72% 1,368
EFREsl2 HHEAIE X SAt 205,862 0 205,862
401 Al& I 28I 205,862 0 205,862
01 A& tI 204,458 0 204,458
OFFREal2 LAY XS A 195,000
OYLtHAE EXSA 195,000, 000& 195,000
OFZ=RE3 & HUHBAIE AXSAL AAIEN
| 195,000,000& * 4.85% 9,458
03 Al 2 0HHI 1,404 0 1,404
OFERTSR YHYAL HXTBA AL
=l 195,000,000& * 0.72% 1,404
FF3IEFINE 2eE8E 7Y 12,437 0 12,437
201 Let24d] 4,918 0 4,918
02 2324gHl 4,918 0 4,918
O &Ci&el8 #EH |*=0M 1,363& = 3,6084 4,918
206 M= Hl 1,381 0 1,381
01 =8l 1,381 0 1,381
O dC2eHH AR (VEEQ 138)
1,380,500& 1,381
405 XHoHF S HI 6,138 0 6,138
01 XL 2 Z FH S| 6,138 0 6,138
© ctelota o] 2,398,000 2,398
O AEME 1,650,000 1,650
© 2IOLHE 2,090,000& 2,090
OHME XML Z otz MSAME FX2a 1,079,292 747,250 332,042
& % SFFH 190,000 100, 351 89,649
401 Al HI & 28I 190,000 100,000 90,000
01 A& HI 190,000 100,000 90,000
OMSAYE =Z2el & SAFH ALY 190,000
Oxzpel ¥ SABU(RFZEHZIE 9
0 4) 100,000, 000& 100,000
OEFSEZINE MAZED 22
9,000,000& = 10& 90,000
MSAL 22 423,989 296,447 127,542
201 LBt2d| 31,959 118,519 A 86,560
01 At 2t 2l 3,260 118,519 A 115,259
©20173 ot™ME S L HUOHMACH Jl=Xt 1)
=l 640,000 » 29H 1,280
020178 =JttE &S HME Y =22
33,000& = 12Al12t = 5&H 1,980




A MSAE2e 0
M FD+F2 MSAE 22
oe: oM g8 XRMHOZ otle HSAE S22 (&)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
02 =224l 28,699 0 28,699
OMSAE ANEEBIRXNBH(HF=SEAEINE2 1
0o &) 2,000,000& 11042 22,000
OZMAAEZ=ME L Z2CHSS=EHE AL ZEH|
= Xl 6,699
Osae e &X 2,607,000 * 14 2,607
OMgdaeaa HE X 4,092,000& * 14 4,092
401 Al HI K 201 I 392,030 177,928 214,102
01 A& HI 392,030 177,928 214,102
OMSAERANE(H=ZTEZINEL 10HA)
10,000,000& * 11JH 2 110,000
OSMMENSESA AUNOESEAZTALC A
X E At 95,000& = 374m’ 35,530
OZMAAEZ=ME X Z2UHSSEEHT MMM
A 16,500, 000& 16,500
OSHHESAE RA =
10,000,000& * 102l 100,000
OEYdd ZA4ZINE H&BA 130,000,000 130,000
HSAE &dl2el 465,303 350,452 114,851
201 L2l 81,373 52,422 28,951
01 At 2t 2l 69,854 45,862 23,992
05l FXEx & FF+=2 12,744
ORXNEx =2 167,000& = 604 ~ 123 12,024
QHIIZEM =8 120,000& » 6CH = 13 720
odsolad HIIZ A 369,000 » 1CH * 13 369
OZAIJtA FIIEA 193,000& = 1CH = 13l 193
O22d EIIZA =52 127,0002 * 404 508
OFF=ZFZ HIIEH HIIBAMN ===
500,000& = 13l 500
OMSANE(SESIHINEA2 A )M I L oH+EE
©t ==z 4,000,000& = 13l 4,000
OXIIUHMEH U2 5,460
OFFSala 275,000& = 12& 3,300
OEFEFE 180,000& * 12& 2,160
OFF0t7&, 5801 SEs JLAHA
& ==z 22,000
OXYE 10004 22,000,000 = 14l 22,000
OAigordze|g e W2 13,200
OZEZJNE2 5 1,100,000 = 12& 13,200
Oz3J1& A&2eX =
130,000& = 3Y « 13 390
OB, JitA Hsetd U=
200,000& * 1%« 13 200
OsZI| &2k u=s 30,000& = 1H « 13l 30




A MSAE2e 0
M FD+F2 MSAE 22
CHel: OtM S X QRHCZ ole HESAIE K22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUIIthE &3Jlse 2L X W=
50,000& = 1& «~ 13 50
O&I|etHE 2e| Xt 1= 90,000& * 1¥ 90
O&stx A 13,200& » 500& 6,600
o2 UIltHE & ===
440,000 * 4CH = 23] 3,520
02 =224l 11,519 6,560 4,959
OxgorM el X &3l
55,000& = 3% = 13 165
O&JIerA 2tel Xt &3l
100,000& = 1H « 13l 100
OHIAZHI HAZ2HI(ER) 1,117& » 200L 224
OJtAALDHHA HUASH 30
O4d3ttHel 1904 30,000& * 13 30
ONEHHIR XL (BBBIIZL 10H4)
1,000,000 = 11004 11,000
206 M= Hl 25,030 25,030 0
01 =8l 25,030 25,030 0
CEFTHS2 2 d3I| 4S5 1,930
O&F2H 88,000& * 10 880
O¢SHA 15,000 * 15% 225
odxg A=A 55,000& = 15L 825
OANES AU 6,700
OA28I MERX 15,000& * 20074 3,000
OUEHI MEEEL2 105  50,000& = 504 2,500
O 12,0002 * 10074 1,200
oOLYsSHE XM 12,400
ogsdole 4,000& = 1,000m 4,000
Osd3A0I2 900& * 1,000m 900
odZEE IC 20,000& * 1004 2,000
odZHz 28 1,000,000 * 44 4,000
OdzEzs ItsR 500,000& * 3K 1,500
OdEII AT 2 4,000,000& = 14 4,000
401 Al HI L 2Tl 358,900 273,000 85,900
01 A& HI 358,900 273,000 85,900
OHFHST 2L HB L FSALEY
2,000,000& = 4CH 8,000
OFFHsZ 3I| M2 L H2AE FHH|
10,000,000& * 1CH 10,000
OJIHEE ANE28 E4H(SEZINE2 10004
) 3,000,000& * 11002 33,000
OMSALSTZET SN2 (FF02EL 2L
) 6,000,000& = 53 30,000




A MSAE2e 0
u: HD4E HSAE B2
CHel: OtM S X QRHCZ ole HESAIE K22 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OSHMEHSIA EFPE ZHER X2 A
53,000,000& * 14 53,000
OFMEH RAE(HMSAME SEA 11HL)
17,000, 000& 17,000
OLYANEOIHAEIN)RNES(SEZINESL 10
M) 1,300,000& * 11JH A& 14,300
OXII&Hl EX(SEZINEL 1001a)
4,000,000& » 11004 44,000
oYsSHLH B+ 39,600
Ogd=ssa&H 2+ 1,400,000& » 11004 15,400
OCCTVH Hl 2= 1,400,000 * 11002 15,400
dESAEH B+ 800,000& 11004 8,800
OUW==CXHsHdH 2= 110,000
Ox=Z& I WA SA
110,000,000& * 14 110,000
HY2FZH (MSAIE 22l Dt) 122,155 118,535 3,620
Jl=234l 122,155 118,535 3,620
Jl23Hl 122,155 118,535 3,620
101 1A bl 51,663 45,230 6,433
03 RIHAZ 22+ 51,663 45,230 6,433
ORIAHA2ZR E= 46,675
o=s= 23,534
-154 Xt 23,533,320& * 1H 23,534
O%g 14,014
“bESE 960
- S X 40,0002 * 1€ * 123 480
- EHlS 20,0003 * 2% * 128 480
-Zn224g
15,7902 * 60AI2F » 1H » 12 11,369
—GIL 2 At 84,2403 * 198 » 20 1,685
OFEFItHI 2,550
-1549 Xt 1,274, 7202 * 23| 2,550
O=&H| 150,000& = 1H = 123 1,800
Oul SH| 150,000& = 1H » 12& 1,800
oz2s=¢ 1,177
-154 Xt 98,050& * 1H » 12& 1,177
OJHAX & HI 150,000& » 199 = 128 1,800
O40h M3EE = 4,988
O=2d3 46,675,000& * 4.5% 2,101
(@FE=20= =1 46,675,000& * 1.5% 701
OCHz=2E & 46,675,000& = 3.06% 1,429
OWIALEEE 1,428,255& * 6.55% 94
OMHEE S 46,675,000& = 1.42% 663




M MESAL22 L
M HY2IAZH (MSAL22 D)

el Dl CER-ED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 49,132 55,185 A 6,053
01 At 2t 2l bl 45,836 49,364 N 3,528
oJllgge=8a=y(JI&d4l) 7,000,000 7,000
ot=a=s2 960
OXI&XR 13,000% * 5 AL = 12 780
(OX3 9N 15,000& = 1JHAL = 12 180
o=gHl 7,056
OJ1=3Hl 7,056,000& 7,056
OFAZE 22= 120,000& » 6 = 23 1,440
ogxd 3 M 50,0008 * 4% = 23] 400
o=t 28,980
O=x=+¢ 60,000% = 198 * 365 21,900
ogd=+¢ 60,000& = 1& * 118& 7,080
02 3324l 3,296 5,821 N2,525
OAMOIETV =t &8 20,000& ~ 12& 240
OM=AE I MNEZ
40,0003 = 500 = 128 2,400
oRER= 656
oggteH 2703 * 1,000 270
osJis# 1,9308 » 200S 386
202 Ol 15,120 15,120 0
01 =0l 15,120 15,120 0
OJ1=Ztl 15,120,000& 15,120
203 &2 = bl 3,000 3,000 0
04 A3 =AY 3,000 3,000 0
OJ =2 (152 0I5t) 250,000& = 123 3,000
405 THatF S| 3,240 0 3,240
01 AU SEH S| 3,240 0 3,240
OM=Jl 7 500,000& = 1CH 500
O=Z0l 7 80,000& * 34 240
O2qX 2¢ 50,000& = 5094 2,500






